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Example: What is the steady state error due to a unit step-input to a type 1 system?

AnNS.
1
1+ Kp

Example: What is the type and order of the system with the open loop transfer
function 1/s(1+s)?

Ans. Type 1, second order.

Example: What is the steady state error (ess(w0)) of the following system for a unit
ramp input?
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Example: A unity feedback system with (s)= 48 (s+5) /s (s+4) (s+2) (s+3) , For
a unit ramp input, what is the steady state error?

Solution:

48 % (0 + 5) 240
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L
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Example: What is the step error coefficient of a system G(s) = m with unity
feedback?
. . _ 1 _ 1
Solution: K,, = Do &
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